
Weighted coefficient used
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bin=1

4096
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bin=1

999

bin∗Counts

weight(40:43) = 8.623221e+09; 
weight(44:47) = 8.281415e+09; 
weight(48:51) = 3.039250e+09; 
weight(52:55) = 2.060617e+09; 
weight(56:59) = 2.143235e+09; 
weight(60:63) = 2.122709e+09; 
weight(66:69) = no data; 
weight(70:73) = 3.403121e+09; 
weight(74:77) = 3.395292e+09; 
weight(78:81) = 3.029521e+09; 
weight(82:85) = 3.147978e+09; 
weight(86:89) = 2.961406e+09; 
weight(90:93) = 2.987828e+09; 
weight(94:97) = 2.943226e+09; 
weight(98:101) = 3.143131e+09; 
weight(102:105) = 2.882015e+09; 
weight(106:109) = 2.900737e+09; 
weight(110:113) = 3.086018e+09; 
weight(114:117) = 3.030966e+09; 
weight(118:121) = 2.145553e+09; 
weight(122:125) = 3.794774e+09; 
weight(126:129) = 6.115635e+09; 
weight(130:133) = 5.024184e+07; 
weight(134:137) = 1.780831e+09; 
weight(138:141) = 2.018674e+09; 
weight(142:145) = 2.191290e+09; 
weight(146:149) = 2.258388e+09; 
weight(160:163) = 1.282850e+10; 
weight(165:168) = 9.842240e+08; 
weight(170:173) = 1.397019e+09; 
weight(175:178) = 1.757314e+09; 
weight(180:183) = 1.942731e+08; 
weight(190:193) = 3.505650e+09; 
weight(195:198) = 4.071781e+09; 
weight(200:203) = 3.472952e+09; 
weight(205:208) = 3.688748e+09; 
weight(210:213) = 3.326511e+09; 
weight(215:218) = 4.376915e+09; 
weight(220:223) = 1.713648e+09; 
weight(225:228) = 2.982960e+08; 
weight(230:233) = 3.148673e+09; 
weight(235:238) = 3.102908e+09;

weight(40:43) = 1.821500e+05; 
weight(44:47) = 6.528000e+04; 
weight(48:51) = 6.327300e+04; 
weight(52:55) = 1.698000e+04; 
weight(56:59) = 5.192500e+04; 
weight(60:63) = 1.878800e+04; 
weight(66:69) = 2.287600e+04; 
weight(70:73) = 2.300700e+04; 
weight(74:77) = 5.593000e+04; 
weight(78:81) = 4.097100e+04; 
weight(82:85) = 5.020100e+04; 
weight(86:89) = 4.555500e+04; 
weight(90:93) = 4.614900e+04; 
weight(94:97) = 4.452500e+04; 
weight(98:101) = 2.020500e+04; 
weight(102:105) = 4.250700e+04; 
weight(106:109) = 4.356800e+04; 
weight(110:113) = 1.916000e+04; 
weight(114:117) = 1.893100e+04; 
weight(118:121) = 1.435400e+04; 
weight(122:125) = 2.440900e+04; 
weight(126:129) = 1.243320e+05; 
weight(130:133) = 1.135800e+04; 
weight(134:137) = 4.516130e+05; 
weight(138:141) = 3.913860e+05; 
weight(142:145) = 4.071810e+05; 
weight(146:149) = 4.786810e+05; 
weight(160:163) = 5.277650e+05; 
weight(165:168) = 5.464160e+05; 
weight(170:173) = 8.710520e+05; 
weight(175:178) = 9.277140e+05; 
weight(180:183) = 1.715990e+05; 
weight(190:193) = 2.157800e+04; 
weight(195:198) = 1.380600e+04; 
weight(200:203) = 1.502500e+04; 
weight(205:208) = 2.610900e+04; 
weight(210:213) = 2.579600e+04; 
weight(215:218) = 3.119300e+04; 
weight(220:223) = 5.096000e+04; 
weight(225:228) = 9.774800e+04; 
weight(230:233) = 1.608600e+04; 
weight(235:238) = 1.512900e+04;


